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6.1-6.3 Practice - Graphing & Solving Inequalities Date Period
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@ Draw a graph for each inequality. When applicable, rewrite the inequailty with the variable
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% Write an inequality for each graph. (use the variable X and write the inequality with the
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Solve linear inequalities involving two-steps. Clearly show EACH STEP. Circle your answer.
Then graph the solution.
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6.3 Notes: S owweE MOLTI—= STE? pusey's
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Solve linear inequalities involving two-steps. Clearly show EACH STEP. Circle your answer.
Then graph the solution.
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